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Show [Graphics[Rectangle[{-1,-1}, {1,1}]], Axes =>True,
AxeslLable =>{"x","y"}]

Integrate [x*2 {x,1,4}]

NSum [f Ai, imax}]
Nintegrate [f ,{xmin, xmax}]
f 2 =Fit [datal AL X, XZ}’X]
FindMinimum [ ¢4 £x x }]

) 1%

ParametricPlot [{t"2 -1t} {t,—3,3}]
BaseForm [1677Dbf 3, 8]

Plot3D [Sin[x, y],{x,0,4},{y.0,4}]

2"101* 27110

Mod [17,3]

Divisors [24]
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i=1 j=1
X+y=1 x-3y=2 sl Ja1-3

tant(x?) Wl Y i) Clua-d

x> -9

lim — lual-6
X*—4x+3
/ 2
12 + 3isin 1_XX +tan™" 0.5+ log,,(100) _)ssal alayl-8
Al el 5V Alaia) Sz aql i el
2- |n[2]:= Integrate [XAS* EXp[X] ,X]
3- n[4]:=" ¢ _Taple[10i + j,{i,3},{j,3}] ; MatrixForm [ f]
4- |n[5]:= Sum [X/\2/I| ,{l ’1, 5}]
5- In[8]: = f[x_]=(x+1)*2 ; Nest[f,x,2]
6- In[9] := Expand [(2x + y +1)*2]

7- In[10]:= Product ir2 €i,1,3Y

8- In[11] :=Series [Exp[x] {x, 0, 4}]
9- In[13] :=GCD [12,16, 24]

10- In[14] := LCM [12,16, 24]
11- In[15]: = Binomial [8, 3]
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1- Show [Graphics[Rectangle[{-1,-1}, {1,1}]], Axes
=>True,

Axeslable =>{"x","y"}]
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2- Integrate [x"2 ,{x,14}]
4 N1 e x el dnaly xA2 Al JalSs Claa
3- NSum [f ,{i,imax}]
g sanall 420e]) Al s
4- NIntegrate [f ,{xmin, Xmax}]
Fallal JalSid dpasal) daill
5- f 2 =Fit [datal , {1, x, X*},x]

Ul Aa ) e 2 gan B S Jazad) Al
6- FindMinimum [- f[x] ,{x,x,}]
AL Alaal) adiall Fal) la
NRoots [X"5+7x+1==0 ,x]
[XA5+ 7x +1=0 ] dabaall dpaaall 538l Cloea

BaseForm [167"bf 3, 8]
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9- Plot3D [Sin[x, y],{x,0,4},{y.0,4}]
0<x<4 0<y<4idbidshadl e Sin[x,y] Al s,
10- 27101*2"110
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11- Mod [17,3]
3 Sle 17 4 AL
12-  Divisors [24]
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In[1] :=r1= Expand [(2x + y +1)'2]
Out [1] 1 + 4x + 4x? + 2y + 4xy + y?=
In[2]:=Collect{rl,y]

Out[2]=1 + 4x + 4x2 + (2 + 4x)y + y?
In[3]:= Coefficient[r1,y]

Out[3]=2+4x
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i=1 j=1
In[5]:= Sum [x*i*y~iL{i,1,34{j.Li}]
X+y=1 x-3y=2 il Jal-3

In[2] :=Solve [{x+y==1x—-3y==2}

@ zj 33 ghaall 4313 cileaiall s A5 wdl) SaiY-4

In[1]:=m={{1,2},{3,2}}
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In[2]:=Eigenvalues[m]
In[3]:=Eigenvector[N[m]]

tan ™ (x?) Al oY) dsidal Clea-5

In[1]:=Atan(x"2)

Iim 5 g._ﬁm\‘ 6
X —4xX+3

In[2]:=Limit[(x2-9)/(x"2-4x+3),x=>3]

2X+Yy—2z=1 3x+2y+2z=1 D5x+4y+3z=4 <Yl Ja1-7
il small aladiuly

In[1]:=mat2={{1,2, -3}, {2, - 1,4}, {4,3, —-2}};

LinearSolve[mat2,{6,2,14}]

12 + 3i[sin “1 +tan0.5+log,,(100) _laddll sayl-8
In[1]:= Abs[2 + 3 * I] * Sin[sqrt[1 — x?]/2"x] + Atan[0.5] +
Log10[100]
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In[1]:= Desolve [Y'[X] =Cos[x],Y[x], X]

out [1]={{y[x] => C[1] + Sin[x]}}

In[2]:= Integrate [X"S*EXp[X] X]

Out [2]=E*(—6 + 6x — 3x% + x3)

In[4]:= f =Table[10i + j,{i,3},{j,3} ; MatrixForm[f]
11 12 13

Out [4]=[21 22 23]
31 32 33

In[5]:= Sum [x’\2/i| {i 1,5}]

Out[5]x+ + + +E+



5- In[8]: = f[x_]=(x+1*2 ; Nest[f,x,2]
Out [8]= (1 + (1 + x)?)?
6- In[9] := Expand [(2x + y +1)*2]
Out [9]=1 + 4x + 4x? + 2y + 4xy + y?
In[10]:= Product [i*2! ,{i,1, 3}]
Out [10]= 36
8- In[11] :=Series [Exp[x],{x, 0, 4}]

Xz X4
Out [11]=1 + x + > + -+ o[x°]
9- In[13] := GCD [12,16, 24]
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Out [13]= 4

10- In[14] := LCM [12,16, 24]
Out [14]=48

11- In[15]: = Binomial [8, 3]
Out [15]= 56
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